
Устный счет



2 х 9



18



81 : 9



9



5 х 9



45



36 : 9



4



63 : 7



9



3 х 9



27



18 : 9



2



9 х 6



54



8 х 9



72



90 : 9



10



20 26 29 40 43 50 52 55 60

а ч д н р ш и з е

39+4         80-25           24+26                
11+15       65-5            100-80
33-4          46+6            32+8



    Р          S



У прямоугольника 
АВСО длина равна 4 
см, ширина равна 3 

см. Найдите его 
периметр.



У прямоугольника 
АВСО длина равна 4 

см, а ширина 3 см. 
Найдите его площадь.



Начертите 
прямоугольник со 

сторонами длиной 5 
см и 2 см. Найдите 

его периметр и 
площадь.


